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ref = 2484; chem = octafluoropropane; casrn = 76-19-7; r2 = 0.90740

Hs(T) ——

275 280 285
temperature [K]

290



Hs [mol*m-3*Pa-1]
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ref = 2485; chem = octafluorocyclobutane; casrn = 115-25-3; r2 = 1.00000
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Hs [mol*m-3*Pa-1]
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ref = 2485; chem = dichlorodifluoromethane; casrn = 75-71-8; r2 = 0.99933
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Hs [mol*m-3*Pa-1]

0.000016
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ref = 2485; chem = chlorotrifluoromethane; casrn = 75-72-9; r2 = 0.99955
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ref = 2485; chem = tetrafluoromethane; casrn = 75-73-0; r2 = 0.99892
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Hs [mol*m-3*Pa-1]
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ref = 2489; chem = anthracene; casrn = 120-12-7; r2 = 0.99883
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Hs [mol*m-3*Pa-1]
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ref = 2489; chem = pyrene; casrn = 129-00-0; r2 = 0.99883

Hs(T) ——
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temperature [K]
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Hs [mol*m-3*Pa-1]

ref = 2489; chem = 9,10-dihydrophenanthrene; casrn = 776-35-2; r2 = 0.99836
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temperature [K]



Hs [mol*m-3*Pa-1]

ref = 2496; chem = 4-bromodiphenyl ether; casrn = 101-55-3; r2 = 0.97972
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Hs [mol*m-3*Pa-1]
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ref = 2496; chem = 2,2’,4,4’,6-pentabromodipheny! ether; casrn = 189084-64-8; r2 = 0.00000

0.1918 -

0.1916 -

0.1914 -

0.1912 -

0.191

0.1908 -

0.1906

Hs(T) ——

270

275

280

285 290 295 300 305 310
temperature [K]



Hs [mol*m-3*Pa-1]

ref = 2496; chem = 4,4’-dibromodipheny! ether; casrn = 2050-47-7; r2 = 0.98277

Hs(T) ——
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temperature [K]
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Hs [mol*m-3*Pa-1]

ref = 2496; chem = 4,4’-dichlorobiphenyl; casrn = 2050-68-2; r2 = 0.86096

Hs(T) ——
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temperature [K]



Hs [mol*m-3*Pa-1]

ref = 2496; chem = 2-chlorobiphenyl; casrn = 2051-60-7; r2 = 0.99761

Hs(T) ——

temperature [K]



Hs [mol*m-3*Pa-1]

ref = 2496; chem = 4-chlorobiphenyl; casrn = 2051-62-9; r2 = 0.99980
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Hs [mol*m-3*Pa-1]

0.45

ref = 2496; chem = 2,2’,4,4’-tetrachlorobiphenyl; casrn = 2437-79-8; r2 = 0.94571
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Hs [mol*m-3*Pa-1]

ref = 2496; chem = 2,3’,4,4’,5-pentachlorobiphenyl; casrn = 31508-00-6; r2 = 0.74654
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Hs [mol*m-3*Pa-1]

ref = 2496; chem = 3,3',4,4’-tetrachlorobiphenyl; casrn = 32598-13-3; r2 = 0.85100
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Hs(T) ——
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temperature [K]



Hs [mol*m-3*Pa-1]

ref = 2496; chem = 2,4’-dichlorobiphenyl; casrn = 34883-43-7; r2 = 0.96199

Hs(T) ——

275

280
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290
temperature [K]



Hs [mol*m-3*Pa-1]

ref = 2496; chem = 2,2’,4,4’,5-pentachlorobiphenyl; casrn = 38380-01-7; r2 = 0.62073

Hs(T) ——

temperature [K]



Hs [mol*m-3*Pa-1]

ref = 2496; chem = 2,4,4’-tribromodiphenyl ether; casrn = 41318-75-6; r2 = 0.71730

Hs(T) ——

temperature [K]

300

305
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Hs [mol*m-3*Pa-1]

ref = 2496; chem = 2,3',4,4’,5-Pentabromodiphenyl ether; casrn = 446254-77-9; r2 = 0.22854
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Hs [mol*m-3*Pa-1]

ref = 2496; chem = 2,2’,4,4’-tetrabromodiphenyl ether; casrn = 5436-43-1; r2 = 0.01789
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Hs [mol*m-3*Pa-1]
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ref = 2496; chem = 2,2’,4,4’ 5-pentabromodipheny! ether; casrn = 60348-60-9; r2 = 0.44631
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Hs [mol*m-3*Pa-1]
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ref = 2496; chem = 2,4,4’-trichlorobiphenyl; casrn = 7012-37-5; r2 = 0.62703
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Hs [mol*m-3*Pa-1]

ref = 2534; chem = oxirane; casrn = 75-21-8; r2 = 0.99964
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Hs [mol*m-3*Pa-1]

ref = 2551; chem = 1-butyne; casrn = 107-00-6; r2 = 0.96861
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Hs [mol*m-3*Pa-1]

ref = 2551; chem = 3-buten-1-yne; casrn = 689-97-4; r2 = 0.99889
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Hs [mol*m-3*Pa-1]

ref = 2551; chem = propyne; casrn = 74-99-7; r2 = 0.99626
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Hs [mol*m-3*Pa-1]
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ref = 2552; chem = chlorofluoromethane; casrn = 593-70-4; r2 = 0.99449
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Hs [mol*m-3*Pa-1]

0.0018

ref = 2552; chem = chloromethane; casrn = 74-87-3; r2 = 0.98342
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Hs [mol*m-3*Pa-1]
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ref = 2552; chem = chlorodifluoromethane; casrn = 75-45-6; r2 = 0.97978
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Hs [mol*m-3*Pa-1]
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ref = 2570; chem = mercury dichloride; casrn = 7487-94-7; r2 = 1.00000
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Hs [mol*m-3*Pa-1]
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ref = 2576; chem = hydroxymethylmercury; casrn = 1184-57-2; r2 = 1.00000
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Hs [mol*m-3*Pa-1]
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ref = 2610; chem = tetrafluoromethane; casrn = 75-73-0; r2 = 1.00000
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Hs [mol*m-3*Pa-1]

ref = 2610; chem = hexafluoroethane; casrn = 76-16-4; r2 = 1.00000
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Hs [mol*m-3*Pa-1]
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ref = 2631; chem = carbon disulfide; casrn = 75-15-0; r2 = 0.99530
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Hs [mol*m-3*Pa-1]
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ref = 2645; chem = ethylbenzene; casrn = 100-41-4; r2 = 1.00000
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Hs [mol*m-3*Pa-1]
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ref = 2645; chem = methylbenzene; casrn = 108-88-3; r2 = 1.00000
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Hs [mol*m-3*Pa-1]

0.01

ref = 2645; chem = methyl tert-butyl ether; casrn = 1634-04-4; r2 = 0.99991
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Hs [mol*m-3*Pa-1]

ref = 2645; chem = ethyl tert-butyl ether; casrn = 637-92-3; r2 = 0.99997
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Hs [mol*m-3*Pa-1]
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ref = 2645; chem = benzene; casrn = 71-43-2; r2 = 1.00000

0.007

0.006

0.005

0.004

0.003

0.002

0.001

He(T)

270

275

280

285
temperature [K]



Hs [mol*m-3*Pa-1]
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ref = 2645; chem = 1,2-dimethylbenzene; casrn = 95-47-6; r2 = 1.00000
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Hs [mol*m-3*Pa-1]

ref = 2647; chem = methyl tert-butyl ether; casrn = 1634-04-4; r2 = 0.97623
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Hs [mol*m-3*Pa-1]

0.7

ref = 2808; chem = 2,2,3,3,3-pentafluoro-1-propanol; casrn = 422-05-9; r2 = 0.99989
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Hs [mol*m-3*Pa-1]

4.5

ref = 2808; chem = 2,2,2-trifluoroethanol; casrn = 75-89-8; r2 = 0.99934
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Hs [mol*m-3*Pa-1]

ref = 2808; chem = 2,2,3,3-tetrafluoro-1-propanol; casrn = 76-37-9; r2 = 0.99908
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Hs [mol*m-3*Pa-1]

0.0035

ref = 2820; chem = mercury; casrn = 7439-97-6; r2 = 0.99536

0.003 -

0.0025

0.002

0.0015 -

0.001 -

0.0005

Hs(T) ——

270

275 280 285 290 295 300 305
temperature [K]

310



Hs [mol*m-3*Pa-1]
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Hs [mol*m-3*Pa-1]
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ref = 2825; chem = 2-heptanone; casrn = 110-43-0; r2 = 0.99691
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Hs [mol*m-3*Pa-1]

ref = 2825; chem = 2-hexanone; casrn = 591-78-6; r2 = 0.99693
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Hs [mol*m-3*Pa-1]

ref = 2825; chem = propanone; casrn = 67-64-1; r2 = 0.99982
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Hs [mol*m-3*Pa-1]

ref = 2825; chem = butanone; casrn = 78-93-3; r2 = 0.99915
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ref = 2831; chem = tetrafluoromethane; casrn = 75-73-0; r2 = 0.99970
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ref = 2832; chem = dinitrogen monoxide; casrn = 10024-97-2; r2 = 0.99999
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ref = 2837; chem = 3-oxa-1-heptanol; casrn = 111-76-2; r2 = 0.89830
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ref = 2837; chem = 2-butoxyethyl ethanoate; casrn = 112-07-2; r2 = 1.00000
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ref = 2895; chem = tribromomethane; casrn = 75-25-2; r2 = 0.99543
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0.011
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